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(=4) X (+13) X (-25) j
=(+13) X (=4) x (-25)
=(+13)+{(—4) X (—25)}

©olH A8 42 A

RS gote A 2

o o = =(+13) X (+100)
— 7/1'5 —%‘__F’]—E} =+1300

© 62, ©: 2FYA

@ O:wetH2, O 2HHE3

® O AgYH, ©: B

@ O : 2ga, ©: 2RI

® O: 48z, O a2

@ (-2) x (-6) @ (+6) x (—3)
® (—18) = (+6) @ (—30) = (—6)
® (+20) = (+5)
. O 5 A A3t o ol 7H 7k A& St
@ (=5) x (-4) @ (+4) x (=7)
® (—40) + (+5) @ (-33) + (-3)
® (+52) = (+4)

4. nol &

2ol ), THe-2 Aol

(—1)m 1 = (—1) 4 (—1)!

5.

HSE AN ke Ae Foha

Q@ (—13) + (+32) + (=25) — (—19)

© —24—-174+29+ 15

® -10, -5 @ -3, 4 ® 5,7

@ 10, 6 ® 13, —27

= 5 Aol 4] §2 A7

D (+8)+ (-13) = -5
@ (-16) — (-=7) = -9
® (—14) + (+20) = +6
@ (—2) x (-7) =+14

® (+39) =+ (=3) = +13
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@® 22 -1x3?

@ (-12) +(=2)* = (-2)

® (—5)% x 22 + (—10)

@ 52 — (—2)% + 32

® 75+ (—5)? x 22




